Errata of Design Concepts Volume I, first edition (December 2018)

Page| Place Error It should be
12 formula 2.10
162 162
2L
24 table 2.2 line 5
4 0 -2 2 0 4 0 -2 2 0.2
26 formula 2.22
M = Fir + Fyr M = Fir — Fyr
46 formula 4.35
b F  3FEI . F 3EI
w4 ab? de b3+ ab?
55 equation 5.9 o ) . )
K 1 o\, 5 K 1 Y\ 5
Fiorse-angle = 7+ 1555 (ﬁ)tb Enseansie = 7+ 350 (ﬁ)tb
56 table 5.2, line 8
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57 figure 5.10 figure of stiffening should be as in figure: 0 1 2 3L [m
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59 calculation
Cy =....=810-10°mm* Cy = .... = 8.10 - 10°mm°
59 calculation .
f=...=3.04-103— f=..=304-10"3—
mm mm
60 calculation N N
hy = oo = 15,70 ey = oo = 1.57 - 104 0
rad ra
60 calculation
Nmm 5 Nmm
ke = oo =529 o ke = ... =5.29-10 -
60 calculation N N
mm mm
Erpy = oo = 20.6 - 107 — Feppy = - = 2.06 - 10° 1
60 calculation N N
mm mm
krw = ... =40.5-10? kyo = .... = 4.05 - 10°
v 0.5-10 o v 05-10 -
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